#430000 AMIGO POWER SHOPPER (EXPLODED VIEW)

102 =
D)
N a“/
J%@ 10067

{ ( 223>
O

/%
10265 152957/@@/; o0
1040 %
1041 1040

0360.11/04.ENG

AMIGO MOBILITY INTERNATIONAL, INC.

EVARESR. <93 Dixic Highway, Bridgeport, Ml 48722-9725
Phone (800) 248-9131 ® Fax (800) 334-7274 ¢ www.myamigo.com



430000 POWER SHOPPER PARTS LIST- AMI10062442 TO AMI10068241 (10/02 — 10/03)

Part#  Description

1040 Retainer snap ring

1041  Tube centering

1189 Washer .38 ID .75 OD cone lock
1192  Washer .281 ID .63 OD .06 flat
1258  Screw 5/16-18 x .75 hex

1377 Screw, socket set 5/16-18x.31
2236  Screw 3/8-24 x 3.75 hex

2237 Nut 3/8-24 hex

2822  Screw, 1/4-20 x 1.75 HD

3083 Nut, 1/4-20 serrated flanged
3416  Washer .41 ID 1.5 OD flat

4790  Wheel asm 6"

5514 Screw 1/4-20 x 2.75

5837 Screw #8-32 x .62 self tapping
5865 Screw, 10-24 x .25 x 1.25 SHLD
6227 Nut, 10-24 nylon insert hex
7438  Wire asm battery to C.B.

7441 Circuit breaker 25 amp

7773  Cap vinyl insulated

7852  Wire asm charger to MPC

8216  Charger 3 Amp

8534 End plugs

8700  Wheel asm Trimline 10.5"

8942 Battery 26 AH

8969 Cable MPC handle control

8991  Bearing without ring

9121  Wire asm, battery to ASIC hardwire
9133 Seat, HD

9146  Wire asm kit hardwire batteries
9301 Clamp, drive

9627 Caster weldment

9637 Platform weldment excite

9640  Cap black vinyl 1.50 ID

9783  Encl & pot asm Hi-Low handle w/key
9784 Encl & pot asm Hi-Low handle w/rock
9936  Handle, upper

Oty/unit

Part#

Description

8

A WWEMBAENDDN

= =
S e N e R R N

P PR NNRNNRRRERAERNDN

10067
10263
10275
10276
10277
10278
10279
10280
10281
10282
10283
10284
10285
10286
10288.20
10309
10341
10360
10396.20
10405
10408
10486
10525

Washer .38 ID 1.0 OD

Wheel 6” w/ bearings & centering tube
Washer 2 1/32 1D 1 5/16 OD

Bolt, carriage 1/4-20 x 2"

Basket, industrial

Pin, linch

Tube weldment short, handle mount
Mat, platform Power Shopper
Platform, weldment Power Shopper
Tube, pivot weldment

Tube, basket pivot

Latch, basket

Bracket, basket support

Post seat HD square tube.

Cover asm rear cinnamon red Polymet
Screw 1/4-20 x 2.50 HSFH

Plug, finish 1.62 ID

Sign Power Shopper

Charge cord retractile AC

Bracket AC cord holding

Wire asm B+ to B-

Label “Keep feet behind this plate"
CPU Value ASIC (1103)

PPIl w/o BK Power Pak Il w/o brake

0360.11/04.ENG

AMIGO MOBILITY INTERNATIONAL, INC.

EVABESR <493 Dixic Highway, Bridgeport, MI 487229725
Phone (800) 248-9131 o Fax (800) 334-7274 ® www.myamigo.com



